OREDHIER

Sy THY . 85 3] 3 By }Hl i H
HHA R RSB AERA BRE | BM e T sHem [ eATH | 7A4E | SAIE [wmieers] 10R3E | 10AsE | ATH | 1ASH [ 2ATH [ 3ASH
1S BEENKRBEA] K 15 REa Y KT - wt% 14.2 19.8 19.8 - 7.0 8.3 10.5 16.1 - 18.2 11.0 12.7
RETRBOEE - wt% 26.3 12.8 26.3 - 315 205 17.7 291 - 25.0 37.6 21.7
Lo RE 10 wi% 2.1 15 28 - 2.1 22 2.6 1.8 - 238 1.6 1.9
BHiinfhE= (RIRN—X) - kg/m 1220 1330 1380 - 1440 1270 1150 1300 - 1300 1260 1220
MAREE FBE~N—X) - kg/m 1220 1220 1280 - 1400 1240 1130 1250 - 1240 1220 1170
25 BEAIRBEENIR 25 REIAY | KD - wi% - 16.5 18.6 17.4 - - 11.4 15.1 16.2 - - 10.9
RETEBDOEE - wi% - 25.6 228 347 - - 19.1 36.5 30.3 - - 15.6
ALeGRE 10 wt% - 2.5 2.8 25 - - 26 20 27 - - 22
BHiighE s (RIRN—X) - keg/m - 1250 1390 1400 - - 1140 1360 1380 - - 1150
HEUSRERE (BEA—X) - kg/m - 1250 1290 1310 - - 1130 1290 1300 - - 1130
35 BEANRBERN R 3ERBIUAY [ KD - wt% 14.6 - - 15.5 8.1 8.0 - - 19.9 15.7 9.4 -
RETRBOEE - wt% 272 - - 343 285 17.8 - - 295 293 20.5 -
Lo RE 10 wi% 2.3 - - 2.6 2.2 22 - - 25 2.7 2.6 -
BHiinfhEs (RIRN—X) - kg/m 1170 - - 1350 1440 1230 - - 1310 1290 1270 -
HUREEE HEA—X) - kg/m 1160 - - 1300 1390 1150 - - 1190 1230 1220 -
REEEL, (RERYONERSERICET 552 OFEEETHD
b — s 4 P - & H
fa BREX AR AEEHE RRE | BU e T eAE [ sAIH | 10AsH | 12A5H | 1H9A
IR (RLER) X1 CHERREO | KR {f U RE — — 12.2 121 12.0 12.2 123 124
ARSYLXEZDIEED 0.09 meg/L| 0.001K:#| 0.0015K#%| 0.001%#%| 0.001Ki#| 0.001FKi#%| 0.001kKH
NE7OLIEED 15 mg/L| 005%kE| 005%kKi#| 005%kKi#| 0.05%K#| 0.05%Ki#| 0.055%K#
STUEEW — me/L|  0.05%ki&| 005%ki#| 005%ki#| 0.05%K:#| 005%Ki#&| 0.05%K#&
KEXEZDEED 0.005 mg/L | 0.00055 7| 0.00055k 5 | 0.00055K 5% | 0.00055K % | 0.00055k i | 0.00055k i
T7ILEILKEEEET REEhENCE meg/L| BREET| BREET| BHEET| BEET| BEET| HEET
ELOXEZDIEED 03 mg/L| 001K3&| 0.01K7#H 0.01] 001FK#&| 001K | 001K
AX[EZDEED 03 me/L|  001k&| 001k#&| 001k#E| 001kK#E| 001kK#E| 001kK#F
MEXETZDEED 0.3 mg/L|  001kiE| 001Ki@| 001kKi#E| 001KiE| 001KME| 001KA
I EEELEED — me/L e [NES 1AL 3 0.1ki& 0.1k% 0.1ki&
14a-SFXHY 05 mg/L1 005|005k FH| 005K 005K 0057k 005KjH
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X HEERERRELEEERABRELLI—(T1=vIREUE—) ITEIT2RARETHD.




